A ®
||

MODEL QTG SJ1, QTG SJ2
LEVELING JACK OWNER'’S GUIDE

Please Read Carefully Before
Installation and Operation

This leveling jack is a high quality mechanical
device and must be properly installed, maintained,
and operated to ensure years of trouble-free
operation. Read and understand these

instructions before proceeding with the
installation.

RATED LIFT CAPACITY

This leveling jack is designed to level and
stabilize the front and rear of most motorized
recreational vehiciles by reducing the amount
of suspension free-play when parked for

camping. Each individual jack is rated at 5000
Ibs.

A SAFETY PRECAUTIONS

WARNING - Never attempt to use this

leveling jack to lift excessive weight or
tires off the ground.

WARNING - Never use a cheater bar...
use only the handle supplied.

WARNING - Never operate vehicle
 without jacks fully retracted.

| WARNING - Never use this leveling jack
as a tire changing jack.

B:1

53236 C.R. 13 Elkhart, IN 46514 (219) 262-3400

FIG1 Make sure the toath on the jack arma are aligned to keep foot pad
paralte! with upper channef

ASSEMBLY (QTG SJ2)
1) Remove components from bax

2) Scissors mechanism must be inserted in and attached to the main
channel using 2 each - 3/8" x 3 1/4” bolts and 3/8" lack nuts. Side holes
toward the upper ends of the jack arms must be aligned with the lower
holes in the ends ofthe main channel (see Fig. 1).

3) Insert the nut plates into each end of the main channel and hold in
place with 2 - 3/8" X 1" bolts, ane at each end of nut plate and on opposite
sides, (seeFig. 2)

4) Followinstaflation instructions for standard QTG Levsiers.

L

FIG. 2

ASSEMBLY (QTG SJ1)

Repeat steps 1, 3, and 4 above.

For operation and maintenarnce tips, refer o the -
Scissors Jack instruction sheet included in this packadge.




N/S= Not Shown INDEX NO. | PART NO. DESCRIPTION QTY. REQ.
P265501 50” Channel (Special) 1
2 85?_5'66 3/8-16 x 3" Hex Head Boit 2
3 857024 Upper Arm for 24" Jack 2
4 857086 Drive Screw for 24" Jack 1
5 857061 Drive Trunion 1
6 857064 Plastic Spacer Bushing 2
7 857026 Lower Arm for 24" Jack 2
N/S P858111 Channel Nut Plate
8 857028 Base Pad 1
g 1014 3/8 -16 Nylon Locking Nut 4
0 857085 3/8-16 x 2-3/4" Hex Head Bolt 2
1 2112 5/8 x 1 x 3/16 Washer 1
12 857060 Stationary Trunion 1
17 13 857062 Thrust Bearing 1
(Models 24010, 24013)
2111/857083 | Thrust Washer Assy. (Model 24009) 1
14 B57076 Lock Pin
15 857067 Spacer/Bearing Washer
16 857075 O-Ring Brake
17 20037 Crank Handle 1
N/S P265504 Hardware Pack

INSTALLATION INSTRUCTIONS

VIPORTANT: READ AND UNDERSTAND ENTIRE INSTALLATION INSTRUCTIONS BEFORE
ATTEMPTING TO INSTALL LEVELING JACKS.

ne following installation instructions are for a typical Class "C" Motorhome. While other applications may require dif-
rrent bracketry and hardware, the following installation instructions will serve as a typical guideline.

VPORTANT: PARK THE MOTORHOME ON A HARD, FLAT, LEVEL SURFACE. PUT THE TRANSMISSION IN PARK
OSITION AND APPLY THE EMERGENCY BRAKE.

OOLS REQUIRED:

3/8" Drive Socket Wrench % 9/16" Deep So(;ket with 6" Extension
9/16" Hand Wrench (Open and Closed Ends) Floor Service Jack
REAR OF VEHICLE

TEP.1. Assemble the leveling jacks by sliding the jack sections into both ends of the center channel as shown in
jure 3. When the desired length of the assembly is obtained and holes are aligned, install the bolts, washers and

SMALL ANGLE

R ® %%@}W BRACKET
@ @ N, =l __ y

e e S

/.
-

/TRAVEL PIN
7. o =_oJ <
o (©
° //_’:IL
EXPOSED
THREADED BOLT

EXPOSED
THREADED BOLT

Figure 3




INSTALLATION INSTRUCTIONS (continueq)

q::' U-BOLTS

E

. U-BOLTS

I

|
:'il
H '

'
i

Figure 4

Figure 5

nuts as shown in the driver's side figure 1. Hand tighten
the bolts and nuts to allow for fine adjustment of the
length.

STEP 2. Install two small angle brackets on each level-
ing iack. Figure 2. Do not tighten the bolts. Balance the
levaiing jack assembly on the lift saddle of an automotive
floor iack as shown in figure 3. Make sure the side of the
leveling jack assembly with the two exposed threaded
bolts is facing the rear of the motorhome. Also make sure
the travel pins are installed from the rear of the
motorhome.

STEP 3. NOTE: The rear leveling jack assembly
must be installed on the RV frame in back of and as
close to the rear wheels as possible without interfer-
ing with under vehicle components. Never install the
leveling jack assembly on an extended vehicle
subframe.

Push the floor jack with leveling jack assembly in to-
wards the rear of the motorhome. Pump the floor jack up
until the top of the leveling jack assembly is touching the
motorhome frame. At the same time make sure the
holes of the small angle brackets are aligned on either
side of their respective vehicle frames as shown in figure
4. It may be necessary to slide the small angle brackets
from side to side to position the holes correctly.

STEP 4. Install four U-bolts over the vehicle frame as
shown in figure 4 making sure the bolts fit through the
corresponding holes in the small angle brackets. Install
the washers and locknuts but do not tighten.

NOTE: If U-bolts cannot be used due to obstruction by
under vehicle components, weld or bolt the optional
angle bracket adapters to the outside webs of the frame
rails as shown in figure 5. Secure the small angle brack-
ets to the optional angle bracket adapters as shown in
figure 5.

STEP 5. Remove the floor jack. Complete steps 2 and 3
of the Operating Instructions {(Lowering the Jacks) in or-
der to extend both drop legs. Make sure the hand grip of
the crank handle clears the side of the RV when the drop
leg engages with the bolt in the support leg. If more
clearance is required, pull each jack leg to its respective
outboard direction. Make sure the entire leveling jack as-
sembly is centered on the motorhome by having the ex-
posed ends of the assembly at equal distance from the
outside of the body. See figure 6. Tighten all bolts and
nuts on the leveling jack assembly.

RV BODY

- —————
EQUAL DISTANCE
ON BOTH SIDES .
OF RV

Figure 8




INSTALLATION INSTRUCTIONS

STEP 1. Assemble the leveling jacks by sliding the jack
sections into both ends of the center channel as shown
in figure 3. When the desired length of the assembly is
obtained and bolts are aligned, install the bolts, washers
and nuts on both ends of the center channel. Figure 7
shows driver's side. Hand tighten the bolts and nuts to
allow for fine adjustment of the length.

%9», g&@
Q ° =5 ESn

5 ¥ ™1
“% v O%
BASE PAD BOLT K

STEP 2. Make sure the side of the leveling jack assem-
bly with the two exposed threaded bolts is facing the
rear of the motorhome. Also make sure the travel pins
are installed from the front of the motorhome. It may be

Figure 7

necessary to reverse the base pad bolts so the nut ends - .

face the front of the vehicle and away from the tire turn-
ing radius. Figure 8.

: f:.--\—‘--._:'._' """"""""" -’;_‘/'_N FHAME e
A T e T | | e i MOUNT
H '._ T ' i } E
| H! . .
T i
L TRAVEL PIN FRAME
y BASE PAD BOLT

,
LA |

@ :
!

L oy o)

[

Figure 8 EXPOSED THREADS TO REAR
FRONT BRACKETS
11 !
P . ey > i
? = | f,_..--—“—'-———’/—\ '=|(
':—i‘ |:_;=afi Figure 9
STEP 3. Install four U-bolts over the motorhome frame

as shown in figure 8. It may be necessary to cut a small
notch from the plastic splash guard on late model
motorhomes to allow the front U-bolts to drop into place.
The U-bolts should straddle on either side of the front
body frame mounts. See figure 9 for optional installation
on Ford Class "C" Motorhomes 1991 and older.

NOTE: The two front brackets will bolt through existing
holes in the vehicle's bumper.

STEP 4. Install the large angle brackets on the U-bolts
with the washers and locknuts provided. See figure 10.
Do not tighten the locknuts.

STEP 5. Balance the leveling jack assembly on the lift
saddle of an automative floor jack as shown in figure 11.
Push the floor jack with leveling jack assembly in to-
wards the front of the motorhome. Align the assembly
with the large angle brackets. Slowly pump the floor jack

FRONT OF VEHICLE

: \ LARGE ANGLE

BRACKET

Figure 11

up until two slotted holes in the sides of the large angle
brackets line up with the threaded holes in the leveling
jack assembly.

STEP 6. Fasten the large angle brackets to the leveling
jack assembly with the bolts and washers provided. Install
the bolts loosely. Remove the floor jack. Complete steps 2
and 3 of the Operating Instructions (Lowering the Jacks) in
order to extend both drop legs. Make sure the hand grip of
the crank handle clears the side of the RV when the drop
leg engages with the bolt in the

support leg. If more clearance is

required, pull each jack leg to its ’ ;EE;:ER
respective outboard direction,

Make sure the entire leveling

jack assembly is centered on the EQuAL
motorhome by having the ex- D'STANCE
posed ends of the assembly at oglgg;’”
equal distance from the outside OF RV
of the body. See figure 12. Figure 12

STEP 7. Tighten all bolts on

the leveling jack assembly including the ones that at-
tach the large angle brackets to it. Pull the U-bolts and
leveling jack assembly as far forward as possible to-
wards the bumper before tightening the locknuts on the
U-bolts.

CAUTION: Turn the vehicle's steering wheel all the
way to the left and then all the way to the right making
sure that no part of the leveling jack assembly interferes
with the tire turning radius. If interference is cbserved,
loosen all four U-bolts and pull the entire leveling jack
assembly towards the front of the vehicle away from the
tires. Once the assembly has been repositioned, hold in
place while U-boilts are tightened. FAILURE TO CHECK
FOR TIRE CLEARANCE MAY CAUSE SEVERE DAM-

AGE TO THE VEHICLE AND/OR LEVELING SYSTEM.



BAL QTG MOTORHOME LEVELING JACKS OPERATING INSTRUCTIONS
RAISING JACKS FOR TRAVEL

STEP 1. Release pressure on the jacks on the high side
of the RV first and then on the jacks on the low side of

the RV. Turn the crank handle in a counter-clockwise di-
rection until each jack pad is slightly off the ground. See

figure 6. TRAVEL
LOCKING =4

1/4" TO 1/2" DISTANCE
FROM GROUND

Figure 6

STEP 2. For each jack push crank handle downward
until the drop and support legs swing up into traveling
position. Using one hand to push down on the crank
handle, use the other hand to insert the travel pull pin
through the two holes in the main channel and two holes
in the support leg. See figure 7. Make sure the detent
wire is placed over the exposed end of the travel pin.

TRAVEL

LOCKING ENGAGED
TAB CORRECTLY/ PAD
Figure 8C
TRAVEL MAINTENANCE
PIN 1. Visually inspect all pins, shafts and channels for ex-

CRANK

DL cessive wear or damage before each use. Replace and/

or repair worn or damaged components immediately.

2. Remove road grime and dirt from main channel, drop
leg and screw jack when necessary. After cleaning, coat
assembly with a silicone spray or similar lubricant.

Figure 7

NOTE: If the holes in the main channel and the support
leg do not line up, make sure the jack pad is level and/

or the travel locking tab is not interfering with the sup- 3. Grease screw and bearing assembly when necessary.
port leg bolt. If the travel locking tab is interfering, turn Use extreme pressure grease.

the crank handle in a clockwise direction until the tab CONTACT NORCO INDUSTRIES FOR

clears the bolt. See figures 8a, 8b and 8c. FURTHER SERVICE INFORMATION.

STEP 3. For each jack turn the crank handle in a NORCO INDUSTRIES, INC.

counter-clockwise direction until it stops and snugs up 53236 CR 13, ELKHART, IN 46514

into the locking travel position. See figure 8c. PHONE: (219) 262-3400, FAX: (219) 264-2366

\ ° CORPORATE HEADQUARTERS
s 365 W. Victoria St. » Compton, CA 90220  (310) 639-4000

RV PRODUCTS GROUP NORCO INDUSTRIES, INC. BAL is a registered brand name of Norco Industries, Inc.

© NORCO INDUSTRIES, INC. 1998



